Applied Calc Il Exam Review May 15, 2023

Today's Plan:

Learning Target (standard): | will review for the semester exam.

Students will: Complete practice problems over previous concepts at the
boards and study for my exam.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuarcy and provide students feedback, describe
and provide examples of exam problems.

Assessment: Board work

Differentiation: Students will work at the board, actively engage in practice
review concepts with the aid of other students and the teacher.
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For each problem, find the area of the region enclosed by the curves. You may use the provided
graph to sketch the curves and shade the enclosed region.
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